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The initial diffusion coefficients were selected so that there would be
agreement between the MC and the 2018 data for MY 50 um AIR 3000 pm N =
90 (distribution of TR cluster size for all energies).
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To match the energy spectra, the energies were adjusted using
an energy shift.

Eirwe = E + (Energy shift)
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Photons per particle (keV™")
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Normalized yield
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The proposed initial diffusion and energy shift are relatively well suited
for PE N=90, [1=67 microns, and MY N=30, |1=50 microns, although
initially these parameters were selected for MY N=90 |1=50.



